EARAROBREBRT —5 XN—ZXBISH—F

20235868 (1) 1EIR#5H

B =swmn G2 US5%3% @R (50 566

EERE

[sEERRE] - 222000 R

[#~&%£] 1 7 54,000,000 0§ 2 3&:22,000,000  33&:14,000,000 4 7&:8,100,000 § 5 7& :5,400,000 M

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
S < )| | e 4. -5-6- . . RERX (FR)
115l | RT3 0Y 33 L 2(1_4)1 5-5-6-5 |33.3[101.8| 1 (433 E%ﬁ
RYR/IAVEYR B:FTU—ILI K J=YYTr—L
>y~ S s 3 | EREE 2:14.1 2-2-3-3 |33.6101.6 | 2 514 | PRHEFRIE (ER)
EH VAN Sl 5.0 o) 6 | @ FI/vIR
RIN=VITSA B:y—94 b1 VS L EIN
ST~ S 3 | REmE 2:14.1 1-1-1-1 [33.9| 9.5 | 7 | 488 |XIEBEA (ER)
318[12| YVEZ VISR 56.0 F9%) 6 | @ /=L
RiFRF B:FAIA Hat /—ZEILX
S 4 3 | MAUBATF 2:14.1 9-5-2-2 |33.8[101.0| 4 504 | AEFHHRZ (ER)
4179 | XFY 5.0 @) +16) keath
RIIET7RA47 B:5FYR J—HUTr—L
= 3 3 | AEE= 2:14.2 5-5-8-8 | 33.2]100.7| 3 502 | = GRR)
s 2 X ARLSILT 5.0 6 Co | ) 9STLyRDSTS5T07
R:T—=ILRY YT B:IARKRX—)L EvIUy RI7—L4
w S TN 4. -8-3- . . ZHAE (FEFR)
61111 |FXAVyF<Y [B] "3 (2113:1/5 (Aaa i band KN I ‘:g;) %mﬁ?
RARASR=Z—5 B:IWHST7F #HBIT7—L
¥ # 3 | WERS 2:14.8 3-3-5-5 [ 34.0] 92.9 | 10 | 470 | EFEFET ER)
715|/5|¥3 bozU—F— 56.0 (1 3/8) 2 | @ Far7IUh
R:AWTz—JI B:INTUIv—)L T s
S = 3 | SHERH 2:15.0 12-12-12-12| 33.5 | 91.7 | 8 460 |APE (FH)
EH 8 PAI RuiRILT it E.O (1 1/4) () |BEEFEHD (#)
RIN—EYIv— B:IvIvIIA—I Htat ASK STUD
YT~ st 3 | HiRE— 2:15.1 9-10-11-10 [ 33.9 | 90.4 | 9 450 | JEHRA GER)
917010/ 77 —LYIVT« 56.0 ) ) | B vIRbELR
RiFXF BT/ IIVHY FREYS
Sy — s 3 | SHEE 2:15.6 3-3-6-5 |34.8| 76.6 | 6 456 | EHEAF (RHR)
EH 3| By b 56.0 3) (-a) |1EEIE(E
RiF4—IYITATFq B:29—FTOEYY sz ive )
= <R 3 | AR 2:15.7 9-10-10-10 | 34.5 | 79.6 | 11 50 |AHE ®R)
118(11| FA—TIAE 5.0 @e) o |FRES
RXAVRATERTwY &:F4—TFFHA7 III5T7—L1L
— YRS 4 3 | ERH 2:15.7 8-8-8-8 |34.7| 77.1 | 12 | 450 |BHRR— (FH)
En4 =KoL= 56.0 @) o) |REME )
R:TUA=Y B =HKITPRT« Me =a
[ BN
En'y 45.7-33.9
NOVIA L | 12.8-11.7-13.2-13.5-12.6-12.2-12.4-11.8-11.3-11.2-11 .4
@ 11— —B&IEfI
13—7F— 12-7(3,5) (2,6)1,4(10,11,9)-8
20— — 12,7(3.5) (2,6,9) (1,4) (10,11)-8
30—7— (x12,9) (7,1)5(3,6) (2,4)11,10-8
43—F— 12,9(7,1) 3,6,5) (2,4) (10,11)8
o ILRE
BB 6 280M4 JA R 6-7 2904 % 3E 5-6 530 3EE 6-7-12 2,490
B B 6 130 6-12 690M 5 E 6-7 650M] 3EH 6-7-12 7,720M
7 140 7-12 850/ =51 6-7 1,030
12 2604

ABIC OV TRUTEREERRODDZE. THRIIZEL.




